
��������� 	
�	�
��
	�����������
����������
��������
�����������
���������
�����������
���
����������
���� � �
�����������
���������
��
� �
!"
#���������
����� ���
���
��������
$%
!"
#���������
����
� �
��������
��
� �
���������
!"#���������
��&��
��$��������
�������
��
������
� �
�������%
��
� ��
�����
'���(��)
!"
#���������
�������
��
��������$����%
���
� �����
(�����
���
�������%
����������
� ��
����
�����
��������
���������)
����
������
���
(��������
��� 
� �
��������
���������*��������
+
#������� ,--./012����
3����������456789
4:8���
;���<
=����������
>-)
*���������
#�
0?.10
3�@9A=��%���������
B��������
C�%����
D=BCE
F;=GH,"=*F)
������ ��
��
�������*���� I���
� &D��E G����*���� 'J3 '=3 K�3,��� K�33�� K�3C��="" 1�. �+1 + + L. L. L.1�M �+.)
?�= . . L. L. L.0�. �+.)
?�= . . L. L. L.*��������(�
����&���
3���N
D*�3EO+ 3�������
#����
����&���
D3#�E
&�O+;���������
C������ 
D&�P��EO+ ������
K������(��%
D1.N
� �+��EO+'�� +�������
=��
����&���
K���
D'��KEO+ C������
K������(��%
D1.N
� ��P������EO+;����������
C��$����%
DQEO+ '�� 
����)
"��
*������
=��
K����
D;>/?EO+=HC3P!"
/>
�����+�����
����
����
����
���
�������
��
$�������
���������)
������ ����
���
�������
���������
=HC3P!"
/>
�����+�����
����
����
��
��������
�����%
���
�����������
� �
������$����%
���������
���������
����
��
� �
����������
���
�����
��
���+�������
��(����
���
����������)
� ���
� �
�������$����%
��
� �
���$�������
��
����������
$%
!"�K�����
;���O1//>+1.+1> R
-.-.
!"
""*"���
K�(����O-.1S+./+-L5TA
UVW
54X
YZ[\
7Z\]̂W[����
H��� ����
I�� �� !���� � &
D��E �����G�����$����% 3,*
L.L/?+11+1.)
3,*
L.L/?+11+-. *����
D�����E 1�. �+1
D=""E1�M �+.)
?�=
D=""E0�. �+.)
?�=
D=""E2���+J���
G�����$����%
D2JG3E 3,*
L.L/?+-+1- _* + +2���+J���
3�������
D2J3�E 3,*
L.L/?+-+10 _* + +3,*
*��������(�
����&���
3���N 3,*
L.11- �����
DI�NE + +3,*
B���
#������� 3,*
L.L/?+1.+- _* + +3C̀ 
'���
;���������
D1�S.
I#�E 3C̀ 
M?+- _* + +3C̀ 
�������
C������ 3C̀ 
?-M+- I#� + +3C̀ 
G��N����
C������ 3C̀ 
1MS I#� + +3C̀ 
�������
3����� 3C̀ 
S-?L &aP�- + +3C̀ 
3b��
3����� 3C̀ 
1S. &aP�- + +3C̀ 
* ���%
3����� 3C̀ 
1M/+- &aP�- + +


